Enrollment No: Exam Seat No:

C. U. SHAH UNIVERSITY

Summer Examination-2022

Subject Name: Data Communication and Networks
Subject Code: 2TEO4CNNL1 Branch: Diploma (CE)
Semester: 4 Date: 05/05/2022 Time: 11:00 To 02:00 Marks: 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Q-1 Attempt the following questions: (14)
a) Physical or logical arrangement of network is
a) Topology b) Routing
c¢) Networking d) Control
b) Data communication system spanning states, countries, or the whole world
IS
a) LAN b) WAN
c) MAN d) PAN
c) The data link layer takes the packets from and encapsulates
them into frames for transmission.
a) network layer b) physical layer
c) transport layer d) application layer
d) Which of the following tasks is not done by data link layer?
a) framing b) error control
c) flow control d) channel coding

e) The technique of temporarily delaying outgoing acknowledgements so that
they can be hooked onto the next outgoing data frame is called

a) piggybacking b) cyclic redundancy check
c) Fletcher’s checksum d) parity check
f)  Which network topology requires a central controller or hub?
a) Star b) Mesh
¢) Ring d) Bus
g) A device that connect networks with different protocol
a) Switch b) Hub
c) Gateway d) All of these.
h) The size of an IP address in IPV6 is
a) 4 bytes b) 128 bits
c) 8 bytes d) 100 bits
i) IPv6 does not use type of address.
a) broadcast b) multicast
c) Anycast d) Unicast
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j) cable used for voice and data communication.

a)Coaxial b) fiber optic

c)twisted pair d) none of the above
k) Radio waves are

a)Omni directional b) Unidirectional

c)bidirectional d) none of the above
I) The entire hostname has a maximum of

a) 255 characters b) 127 characters

C) 63 characters d) 31 characters
m) FDDI Stands for

a)Fiber Distributed Data Interface b) Fiber Data Distributed Interface

c) fiber dual distributed Interface d) None of the above.
n) A device that is used to connect a number of LANS is

a)Router b)Repeater

c) Bridge d) All of these.

Attempt any four questions from Q-2 to Q-8

Q-2 Attempt all questions
a)  Draw the OSI reference model. Write down functions performed by each 07
layer.
b)  Define computer network? What are the types of network according to 07
scope?
Q-3 Attempt all questions
a)  Discuss different network management software. 07
b)  What are the characteristics and components of a data communication 07
system?
Q-4 Attempt all questions
a) Compare TCP/IP and OSI Reference Models 07
b)  Explain NIC, Hub, Switches and Routers, Bridge in Detail. 07
Q-5 Attempt all questions
a)  List Various Services of Transport Layer. Compare TCP and UDP. 07
b)  Write Short Note on DNS. 07
Q-6 Attempt all questions
a)  Discuss different network topology. 07
b)  Discuss Guided and Unguided Transmission media. 07
Q-7 Attempt all questions
a)  Discuss different classification of IP Address. 07
b)  Explain Print Server, File Server, Proxy Server and Web Server in detail. 07
Q-8 Attempt all questions
a) Explain SMTP, POP, and IMAP in detalil. 07
b)  What is Subnet Mask? Explain types of subnet masks in details. 07
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Attempt any four questions from Q-2 to Q-8

Q-2 Ol USedledl WAL, 531
a)  OSI Hedl HIZ 2Rl £25 2dR 2aIRlL 53AUML 2144 5L QUi

-

b)  stw2z dzad cpvailid 5202 250U Wyl 42a54l Usll g 9?

Q-3 Ol USellell WAL 531
a)  [A[aa A2a5 HesyHez HigzazHdl Al 5.
b) 3z swylcsad [zl dlalfsdizil vid uz2sl 9 97

>

Q-4 i ULl UALA 521
a)  TCP/IP i< OSI 2ea Higatdl dzeunpll s
b)  NIC, o, (R 214 G234, [Bisy4 (21412 AHMAl.

Q-5 i ULl UALA 521

a)  2ledie @Rl (Al Al 12l stdidl. TCP 244 UDP <l u2v1uel s3.

b)  DNSuz 25l <lis qvil.

Q-6 O{HL UReAlAl UALA, 521
a)  (alam 4245 2uidio-l 2 s2.
b)  oudis wad 2SS 21 Mad WALl 221 521

Q-7 AL USeAledl WAL 530
a) sz P iAol Al 5.
b) [z U4z, s15a Uz, Nisl U 2id Aol 424 [A01da1 UHomAL.

Q-8 oA USedledl UALA, 531
a)  SMTP, POP i IMAP < [A31dd2 A4MAl.
b) U2 Hizs g 897 U2 HIz5l Us1RL [AAAIML AHMAL
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